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Quiz Date: 1stJuly 2020

Direction (1-5): Read the following information carefully and answer the questions
given below:

Eight persons A, B, C, D, E, F, G, and H are seating in a row, some are facing north while
some are facing south but not necessarily in the same order.

C sits third to the left of F who sits one of the extreme ends of the row. Only three persons
are sitting between E and H. B sits second to the right of the one who sits second to the left
of D. A sits third right of G who is an immediate neighbour of C. G is facing north. D is not an
immediate neighbour of A. C is facing opposite direction of F and A. H sits third to the right
of B. E is facing same direction of G but opposite to H.

Q1. Who among the following sits second to the left of G?

(a)A

(b)H

(c)D

(d)B

(e) None of these

Q2. Who among the following sits third to the right of the one who sits second to the left of
H?

(a)B

(b) F

(c)A

(d) G

(e) None of these

Q3. How many persons are facing north?
(a) One

(b) More than three

(c) None

(d) Two

(e) Three

Q4. What is the position of E with respect to C?
(a) Immediate Left

(b) Third to the right

(c) Second to the left

(d) Immediate Right

(e) None of these

Q5. Who among the following sits second to the left of D?
(@cC

(b) G

(A E

(d)F

(e) None of these



Bankersadda.com Reasoning Ability Quiz for RRB Prelims 2020 Adda247.com

Directions (6-8): Study the information carefully and answer the questions given
below.

Ravi starts his journey from point R and walks 5m towards south and reached at point T.
He takes a left turn and walks 10m to reach at point Q. from point Q, He takes a right turn
and walks 8m to reach point Y. From point Y, he takes right turn and walks 5m to reach
point Z. from point Z, he start walking towards north direction and walks 11m to reach
point X.

Q6. Point Y is in which direction of Point T?
(a) Northwest

(b) North

(c) Southwest

(d) South

(e) None of these

Q7. What is the shortest distance between X and Q?
(a) 5m

(b) 6m

(c) 4m

(d) 3m

(e) None of these

Q8. If point D is 4m east of point R then what is the direction of point D with respect to
point Z?

(a) North

(b) Northeast

(c) Northwest

(d) South

(e) None of these

Q9. Which of the following will be definitely true if the given expression
T=C>H=Q<Y=G=Uz= P=W>A is definitely true?

(a) A<U

(b)C=Q

(JH>Y

(d) Y=W

(e) None is true

Q10. The position of how many alphabets will remain unchanged if each of the alphabets in
the word ‘Conference’ is arranged in alphabetical order from left to right?

(a) One

(b) Five

(c) Two

(d) Three

(e) Four
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Q11. Gopal is 20t from the left end of a row and Geetansh is 25t from the right end of row.
If they interchanged their positions then Geetansh ranks become 14 from right end. Find
total number of persons in the row?

(a) 32

(b) 35

(c) 34

(d) 33

(e) None of these

Directions (12-14): Study the following information carefully and answer the given
questions.

Amongst Six ropes, A, B, C, D, E and F, each has different length. D length is more than E and
less than B. A length is more than C and less than B. F length is more than B. C’s length is
more than D. The second longest rope length is 16m and third shortest rope length is 9m. D
length is 7m.

Q12. Which of the following rope is third longest?
(@ C

(b) B

(A

(d)D

(e) Can’t be determined

Q13. What may be the sum of length of E and B?
(a) 23

(b) 24

(c) 21

(d) 25

(e) None of these

Q14. How many ropes are longer than F?
(a) One

(b) Two

(c) Three

(d) None

(e) Can’t be determined

Q15. If ‘white black yellow’ is coded as ‘mk bl po’ and ‘Orange black white’ is coded as
‘mKk po gn’ then which of the following is the code of ‘Black’?

(a) mk

(b) gn

(c) po

(d) None of these

(e) either (a) or (c)
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Solutions

Solution (1-5):
Sol.

EAREERE

S1. Ans.(b)
S2. Ans.(c)
S3. Ans.(e)
S4. Ans.(b)
S5. Ans.(a)

Solution (6-8):

R_ _4m _ _D

11m 8m

Sol.

S6. Ans(e)
S7. Ans(e)
S8. Ans(c)
S9. Ans.(e)

S10. Ans(d)
Original word- Conference
Obtained word- CCEEEFNNOR
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S11 Ans(d)
Total number of persons in the row=(20+14-1)=33

Solution(12-14):

Sol.

The arrangement will be:
F>B(16m)>A>C(9m)>D(7m)>E
S12.Ans(c)

S13.Ans(c)

S14.Ans(d)

S15. Ans(e)
Sol. White/black- mk/po
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